F12REMX &Y — VEGER

= 10/10 )—a2f10/24 J—23 11/14 BAZ |11/28 N> T—
a—hk A-B c:D E-F G-H
BFIE 1 BBY57 2BO’s 3 GALLERY 4D.J 5 Revival 6 =522 |B[&|IE
1 BEYST 58 — 77 60 — 47 78 — 68 43 — 82 50 — 52 2| 3| 4
2BO’s 77 — 58 76 — 42 52 — 57 54 — 50 80 — 55 4] 1| 2
3 GALLERY 47 — 58 42 — 76 36 — 59 40 — 65 61 — 49 1 4f 5
4D.J 68 — 78 57 — 52 59 — 36 52 — 50 70 — M1 4] 1| 1
5 Revival 82 — 43 50 — 54 65 — 40 50 — 52 67 — 60 3| 2| 3
6 b—H2R 52 — 50 55 — 80 49 — 61 41 — 70 60 — 67 1| 4| 6
X126 RUE-6f1ld, HEDEDHZF—LRLTOEEEICKS,
BF2E 1 X557 |2 SUPERBINGO| 3 Hitdx (44D H—X| 5 REWIUAK | 6 ZFIST |B|&|IE
1 RO >T 57 — 55 57 — 56 74 — 50 0—20 0—20 3| 2| 2
2 SUPERBINGO | 55 — 57 62 — 47 48 — 50 54 — 45 58 — 67 2| 3] 3
3 ALk 56 — 57 47 — 62 53 — 59 57 — 51 57 — 45 2| 3| 6
4 ATUH—X 50 — 74 50 — 48 59 — 53 47 — 58 60 — 77 2| 3| 4
5 fRIERALK 20— 0 45 — 54 51 — 57 58 — 47 48 — 69 2| 3] 5
6 =RY57 20— 0 67 — 58 45 — 57 77 — 60 69 — 48 4 1 1
X3~64IlF, UEF—LRTDBEEEIZLD, (SUPERBINGO+22, 1V Ul'-2" A3, {REE1EHLK A4, BERRAT5)
BBF3#R | 1 PEANUTS | 2 Supernova | 3 Backer's 4+3957 |5 1—nN—=X B a[E
1 PEANUTS 40 — 80 68 — 43 50 — 57 60 — 40 2[ 2| 3
2 Supernova 80 — 40 85 — 35 72 — 56 74 — 24 4] of 1
3 Backer’ s 43 — 68 35 — 85 53 — 57 50 — 33 1 3| 4
4 £359357 57 — 50 56 — 72 57 — 53 54 — 32 3| 1] 2
591—/N\—X 40 — 60 24 — 74 33 — 50 32 — 54 0] 4 5
BFEHERS (A +HEMH)
BELLOW 42 — 83 1 PEANUTS
3 Backer’ s 24 — 50 MINORITY
MINORITY 40 — 55 4 w5957
2 Supernova 39 — 21 BELLOW
“F 1DJ 2 #7537 3BO’s 4 RIEEEUK | 5 HEIST | &) B
1DJ 49 — 36 64 — 47 45 — 34 46 — 43 4] 0O 1
2 BEIIT 36 — 49 20— 0 31 — 62 63 — 68 1| 3| 4
3BO’s 47 — 64 0—20 30 — 82 44 — 46 0] 4 5
4 RIBRALK 34 — 45 62 — 31 82 — 30 80 — 49 3| 1] 2
5 HFEIST 43 — 46 68 — 63 46 — 44 49 — 80 2[ 2| 3




